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für linear nicht veränderliche Belastung 

PR = F . lb 
lx 

+ F . lz . tan 400 

2 . (ly - Dm) 

PA = F . lb 
2.lx.tan 400 

+ F . lz 
2 . (ly - Dm) 

P R = F . (la + lx) F . lz . tan 400 
lx 

+ 2 . (ly - Dm) 

PA = 
F . (la + lx) 

2 . lx . tan 400 
+ F . lz 

2 . (ly - Dm) 

PR =  F  
 2 + F . lz . tan 400 

2 . (ly - Dm) 

PA =  F  + 4 . tan 400 

F . lz 
2 . (ly - Dm) 
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PA =  F  + F . la + 
4 2 . lx 2 . (ly - Dm) 

F . lb 

P R = tan 40 0 [ 4 
      + 

. 
2 . lx 

a + 2 . (ly - Dm) ] F . lb 

PA =  F  + F . la + 
4 2 . lx 2 . (ly - Dm) 

F . lb 

P R = tan 40 0 [ 4 
  +    . 

2 . lx 
a + 2 . (ly - Dm) ] F . lb 
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PR = PR min + 2 . PR max 
3 

PA min = 
F . (la + lx) 

2 . lx . tan 400 

PA max = F . (lb + lx) 
2 . lx . tan 400 

PR max = F . (lb + lx) 
lx 

PR min = F . (la + lx) 
lx 

PA min = 2 . lx . tan 400 2 . (ly - Dm) 
F . (la + lx) + F . lz 

PA max = 2 . lx . tan 400 2 . (ly - Dm) 
F . (lb + lx) + F . lz 

PR min = F . (la + lx) F . lz . tan 400 

lx + 2 . (ly - Dm) 

P R max = F . (lb + lx) F . lz . tan 400 

lx + 2 . (ly - Dm) 

PR = PR min + 2 . PR max 
3 

PA = PA min + 2 . PA max 
3 

PA = PA min + 2 . PA max 
3 
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PR = PR min + 2 . PR max 
3 

PA min =  F  + 4 
F . (la + lx : 2) 

2 . lx 

PA min =  4 +  F  F . (la + lx : 2) 
2 . lx 

+ F . (lc + ly : 2) 
2 . (ly - Dm) 

PA max =  F  + 4 
F . (lb + lx : 2) 

2 . lx 

P R min = tan 40 0 [ 4 
  + F (la + l . 

2 . lx ] x : 2) 

P R max = tan 40 0   F  
4 + F (lb + l . 

2 . lx ] x : 2) 

PA max = 4 +  F  F . (lb + lx : 2) F . (lc + ly : 2) 
2 . lx 

+ 2 . (ly - Dm) 

PR = PR min + 2 . PR max 
3 

PA = PA min + 2 . PA max 
3 

P Rmax = tan 40 0 [ 4 
        + 

. x : 2) F (lc + l . y : 2) 
2 . lx 

+ 2 . (ly - Dm)  

PA = PA min + 2 . PA max 
3 

P Rmin = tan 40 0 [ 4 
   +    . a + lx : 2)    . c + ly : 2) 

2 . lx 
+ 2 . (ly - Dm)  


